Score :
Date :

Name :

Teacher :

Graphing Inequalities

11)

1)

012 3 456 7 8 91011121314

7-6-5-4-3-2-1012345©6 7

12)

2)

012 3 456 7 8 91011121314

0123456 7 8 91011121314

13)

3)

-76-5-4-3-2-1012345©6 7

7-6-5-4-3-2-1012345©6 7

14)

4)

7-6-5-4-3-2-1012345©6 7

15)

5)

012 3 456 7 8 91011121314

16)

6)

7-6-5-4-3-2-1012345©6 7

17)

7)

-76-5-4-3-2-1012 345867

012 3 456 7 8 91011121314

18)

8)

012 3 456 7 8 91011121314

19)

9)

012 3 456 7 8 91011121314

7-6-5-4-3-2-1012345©6 7

20)

10)

10
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Score :

Name :

Date :

Teacher :

Graphing Inequalities

11)

z

-

1)

-7-6-5-4-3-2-1012 345867

012 3 456 7 8 91011121314

W

2)

-7-6-5-4-3-2-1012 345867

Al

13)

012 3 456 7 8 91011121314

Al

14)

05 = -a

4)

-76-5-4-3-2-1012345©¢6 7

1 = -2

5)

W

16)

< 7

6)

012 3 456 7 8 91011121314

012 3 456 7 8 91011121314

< 8

f

17)

012 3 456 7 8 91011121314

7-6-5-4-3-2-1012345©6 7

Al

18)

S5 = -m

8)

-7-6-5-4-3-2-1012 345867

-7-6-5-4-3-2-1012 34586 7

19)

13

W

9)

012 3 456 7 8 91011121314

X =11

20)

b > -4

10)

012 3 456 7 8 91011121314

7-6-5-4-3-2-1012345©6 7
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Infinite Algebra 1
One-Step Inequalities
Solve each inequality and graph its solution.

1) —-12>%x-7

-10 -3 -6 —4 -2

5) a—17>-16

<l

-5 -4 -3 -2 -1 0 1 2 3 4 5

-14 -12 -10 -8 -6

9) -3x>3

-5 4 -3 2 -1 0 1 2 3 4 5

-24 =22 =20 -18 -16 -14

Name
Date Period

2) -1+r>4

I S S S S S A
4) b-7<-12

I S
6) 15+x<0

—;2 I —;0 I —i8 -16 -14 —iz\

15 16

Class Exercises:

Inequalities with One Variable



Kuta Software - Infinite Algebra 1
Two-Step Inequalities
Solve each inequality and graph its solution.

1) 2x+4 > 24

34 5 6 7 8 9 10 11 12 13

5 -b-2>8

tiz : 71I0 I jx : -6 -4 o
n

7) 4+—-<6
3

2 3 4 5 6 7 8 9 10 11 12

11) —11x—4>-15

-3 -2 -1 0 1 2 3 4 5 6 7

Name
Date Period
2) —-3<-6
14 -2 -0 -8 -6 4

6) —4(3 +n)>-32

L
<

1 2 3 4 5 6 7 8 9 10 11

8) -3(r-4)>0

-4 -3 -2 -1 0 1 2 3 4 5 6

10) -3(p-7) =21

<

-6 -5 4 3 2 -1 0 1 2 3 4

-9+a
15

12) > 1

22 23 24 25 26 27 28 29 30 31 32

Class Exercises: Inequalities with One Variable



